° ALLIED MAGCHINE
WOHLHAUPTER E ENGINEERING

Holemaking Solutions for Today’s Manufacturing

Wohlhaupter MultlBore

2 i t8 7] 7 =
BASIC PROGRAM

S |

kﬁ
fizg

124 o)

www.wohlhaupter.com



KRR
Precision boring tools

AR RERUC T AR AR RN RAVERR S R T KB~ mAAZ

AR ; ERREER M TR ITENRE -

Wohlhaupter's modular boring systems deliver premium results in a multitude

of materials and hold extremely tight tolerances in difficult applications.

MBI RS RIATS

With Digital adjustment Adjustment via vernier

e VarioBore, @ 0,4 — 152 mm e VarioBore @ 0,4 — 152 mm :

e 510 Digital, # 0,4 — 12 mm e 248, #3-30,2mm .

¢ DigiBore, @ 3 —208 mm e PrimeBore, @ 3 —208 mm

e 564 Balance Digital, @ 20— 205 mm e 364 Balance, @ 20 — 205 mm @ .

537 Digital, @ 100 — 205 mm e 310, @ 20 — 205 mm
337, @ 100 — 205 mm

ll" AL HEESHET]

Rough and finish machining

Combi-Line HFE SRHEMTAEN TS ZA—89NT
R

Combi-Line incorporates both rough and finish boring into
a single operation and maintains accuracy in both level and
stepped machining.

e Combi-Line, @ 24,5-201 mm

fHETIR

Boring tools for rough machining

Multi BoretZiR{L BhiLiE T, S ZMTIRAS, BE THMT , F/AM
T, R¥EINT, mEEINT, EINEFHE MR ATNEE,

MultiBore serrated bodies, combined with various insert holders, provide
great versatility by rough machining, chamfering, reverse machining, circular
milling, and axial grooving.

o WTJHEHET], ¢ 19,5205 mm o IREEIET], @ 20 - 205 mm
Twin cutter tools Axial grooving tools

o EIFT], @ 19-216 mm o REEHETET), 0 29-245mm
Chamfering tools Tools for reverse machining

o FHHEIET], 20-79 mm
Grooving tools for circular milling

Va)a)

Replaceable Inserts

RFERM T RENISOR BRI A, {3kt ik R E
EMENIMIER

Wohlhaupter offers a large selection of ISO replaceable inserts
specially designed for all convenional spindle milling operations.

* @ ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

2 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



FRIBJIELR

< _ Intermediate modules
EHELHRFFPIERR AT RIAZE LUSE RN N TS =
EREER. ERSEHERHRNEITEBEINNTERKEBE
1SRRG 2
) Wohlhaupter's wide selection of intermediate modules can be modified to
o fit any boring application requirements.
Choose modules made of heavy metal, solid carbide or special vibration
L damped solutions for best results when working with a diameter-to-length
ratio over 1:5.
- TEE * NOVITEH
Reducers HETIFF
o WEKFF Vibration dampened intermediate
Extensions modules

£

Master shanks

AR TIRECE TMVSIER A VER T AR IE R

Wohlhaupter master shanks equipped with MVS connecting components are
available to meet the different machine requirements.

e DIN 69893 HSK e DIN 2080

e DIN 69871-AD /B -D ® 1SO 26623-1/ PSC

e MAS BT /JIS B 6339 ¢ Morse tapers DIN 228 A/2207,
DIN 1806

BB MVS #O/M*KA
Clamping tools with MVS connection

MaFhEE B RERRIFRF T B P RIHSKH B IR

Get uncompromising Wohlhaupter precision in a large range of common
clamping tools in HSK or angle taper design.

o ME I TIRELR o EFETIFRFFTIRIELR
Adaptor sleeves for cylindrical Holding arbors for milling cutters
shanks . RETINRER

o FhITSLFIFTIIRIRR Hydraulic clamping chucks
Drill chucks o PRIRBATIIER

o SREEFRIIFTINRIRIR Tapping chucks

Collet chucks

o RHTIKIFTINIRIR
Milling arbors

o IEATHEET] NERENEIRN
Adaptors and adaptor shanks for
precision boring tools

s

-
'i

$£7] @ 200 - 3255 mm
Boring tools @ 200 - 3255 mm

4

RIFFHRMAVETI RS TEERLAD 200 - 3255 mmalE
AERDRERBAENTIEARSEFNEIZ—,

Wohlhaupter offers one of the largest selections of powerful,
yet versatile boring systems for the @ 200 - 3255 mm size range
world-wide.

* @ ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 3



0,4 -152 mm
BFHEmMIaET]

Boring tools for finish machining m BORE

BEET] Precision boring tool
X4 FE§ c
,,,,,,,,,,, | EE o
5 }
{
o e
7 )
f
Xik
MVS 0 HFLEE IT&RS
MVS connection Boring range Part No.
¢, | d A % Xik kg
50 - 28 0,4 -152 50 49,5 0,7 536001*
F5EEJ] SETECH Precision boring tool with SETECH
MVS 0 HFLEE iTtEs
MVS connection Boring range Part No.
d, | d, A X Xik kg
50 - 28 0,4 - 152 50 49,5 0,7 536002*
3ETech#{iL B RIERE S Jh g jdity 2 This tool is supplied without the S3E™°" digital readout module. The
digital readout module must be ordered separately.
SETECH $77D B RS IR JETECH Digital Readout Module
iTRS
Part No.
SETECH 536010
MRS, MEE 6 WHEA. Accessories and spare parts from page 6.
BEERAHETINRZIET, General accessories and service keys, see MultiBore Catalog,
chapter Z.

* @ ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

4 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



Ausdrehwerkzeuge flir die Fertigbearbeitung

Boring tools for finish machining

Outils d’alésage pour les travaux de finition

Non-Digital l!ZE]E BORE

Werkzeugsatz Bestellnummer Werkzeugsatz Bestellnummer
Tool set Part No. Tool set Part No.
Jeu d'outil Référence Jeu d'outil Référence
Form 20 - 0 10 — 30 mm 103049 Form 101 -0 10 - 30 mm 103050

bestehend aus / consisting of / comprenant:

1 Feindrehwerkzeug 536001
Precision boring tool
Outil d’alésage de trés haute précision

bestehend aus / consisting of / comprenant:

1 Feindrehwerkzeug 536001
Precision boring tool
Outil d’alésage de tres haute précision

4 Klemmbhalter Form20 4 Klemmhalter Form 101
Tool holders ?10-15 218059 Tool holders 010-15 218048
Outils porte-plaquettes @ 15-20 081045 Outils porte-plaquettes @ 15-20 081041

020-25 081046 020-25 081042
025-30 081047 025-30 081043

3 Bedienschliissel s2,5 115575 3 Bedienschliissel $2,5 115575
Service keys s4 215403 Service keys s4 215403
Clés de service T7 115591 Clés de service T8 115590

1 Kunststoffkoffer 103161 1 Kunststoffkoffer 103161
Plastic case Plastic case
Coffret en matiere plastique Coffret en matiere plastique

1 Schaumstoffeinlage 103079 1 Schaumstoffeinlage 103079
Foamed plastic lining Foamed plastic lining

Mousse de protection

Mousse de protection

Werkzeugsatz Bestellnummer Werkzeugsatz Bestellnummer
Tool set Part No. Tool set Part No.
Jeu d’outil Référence Jeu d’outil Référence
Form 20 - @ 10 — 102 mm 103051  Form 101 - @ 10 — 102 mm 103052

bestehend aus / consisting of / comprenant:

bestehend aus / consisting of / comprenant:

1 Feindrehwerkzeug 536001 1 Feindrehwerkzeug 536001
Precision boring tool Precision boring tool
Outil d’alésage de trés haute précision Outil d’alésage de trés haute précision
4 Klemmbhalter Form 20 4 Klemmbhalter Form 101
Tool holders 010-15 218059 Tool holders 010-15 218048
Outils porte-plaquettes @ 15— 20 081045 QOutils porte-plaquettes @ 15— 20 081041
020-25 081046 P20-25 081042
025-30 081047 P25-30 081043
1 Kerbzahnkérper 236021 1 Kerbzahnkdrper 236021
Serrated tool body Serrated tool body
Corp cranté Corp cranté
4 Plattenhalter 0 29— 41 236022 4 Plattenhalter 029- 41 236023

Insert holders
Porte-plaquettes

0 40- 53 236024
052- 77 236026
0 76-102 236028

Insert holders
Porte-plaquettes

@ 40- 53 236025
@52- 77 236027
P 76-102 236029

1 Befestigungsteil 236020 1 Befestigungsteil 236020
Clamping piece Clamping piece
Elément de fixation Elément de fixation

4 Bedienschliissel s2,5 115575 4 Bedienschliissel $2,5 115575
Service keys s4 215403 Service keys s4 215403
Clés de service s5 215521 Clés de service s5 215521

T7 115591 T8 115590

1 Kunststoffkoffer 103161 1 Kunststoffkoffer 103161
Plastic case Plastic case
Coffret en matiere plastique Coffret en matiere plastique

1 Schaumstoffeinlage 103079 1 Schaumstoffeinlage 103079
Foamed plastic lining Foamed plastic lining

Mousse de protection

Mousse de protection

WOHLHAUPTER

www.wohlhaupter.com | +49 (0) 7022 408 0

ALLIED MACHINE
BENGINEERING

| info@wohlhaupter.de

A13



Ausdrehwerkzeuge fiir die Fertigbearbeitung

Boring tools for finish machining

Ouitils d’alésage pour les travaux de finition

SETECH IZIIBORE

Werkzeugsatz Bestellnummer Werkzeugsatz Bestellnummer
Tool set TECH Part No. Tool set TECH Part No.
Jeu d’outil 3E Référence Jeu d’outil 3E Référence
Form 20 - @ 10 — 30 mm 103045 Form 101 -0 10-30 mm 103046

bestehend aus / consisting of / comprenant:

bestehend aus / consisting of / comprenant:

1 Feindrehwerkzeug 536002 1 Feindrehwerkzeug 536002
Precision boring tool Precision boring tool
Outil d’alésage Outil d’alésage
de tres haute précision de tres haute précision
4 Klemmbhalter Form 20 4 Klemmbhalter Form 101
Tool holders 010-15 218059 Tool holders 010-15 218048
Outils porte-plaquettes ¢ 15-20 081045 Outils porte-plaquettes ¢ 15-20 081041
020-25 081046 020-25 081042
025-30 081047 025-30 081043
3 Bedienschliissel $25 115575 3 Bedienschliissel $2.5 115575
Service keys sd 215403 Service keys s 215403
Clés de service T7 115591 Clés de service T8 115590
1 Kunststoffkoffer 103161 1 Kunststoffkoffer 103161
Plastic case Plastic case
Coffret en matiére plastique Coffret en matiere plastique
1 Schaumstoffeinlage 103079 1 Schaumstoffeinlage 103079

Foamed plastic lining
Mousse de protection

Foamed plastic lining
Mousse de protection

Die 3ETCH Digitalanzeige muss gesondert
bestellt werden.

The 3ET®°H digital readout module must be
ordered separately.

Werkzeugsatz Bestellnummer Werkzeugsatz Bestellnummer
Tool set TECH Part No. Tool set TECH Part No.
Jeu d’outil 3E c Référence Jeu d’outil 3E ¢ Référence
Form 20 - @ 10 — 102 mm 103047 Form101-@10-102 mm 103048

bestehend aus / consisting of / comprenant:

bestehend aus / consisting of / comprenant:

1 Feindrehwerkzeug 536002 1 Feindrehwerkzeug 536002
Precision boring tool Precision boring tool
Outil d’alésage Outil d’alésage
de trés haute précision de trés haute précision
4 Klemmbhalter Form 20 4 Klemmbhalter Form 101
Tool holders @10-15 218059 Tool holders P10-15 218048
Outils porte-plaquettes @ 15—-20 081045 Outils porte-plaquettes @ 15—20 081041
020-25 081046 Pp20-25 081042
0 25-30 081047 P25-30 081043
1 Kerbzahnkdrper 236021 1 Kerbzahnkorper 236021
Serrated tool body Serrated tool body
Corp cranté Corp cranté
4 Plattenhalter 029- 41 236022 4 Plattenhalter 029- 41 236023
Insert holders 0 40- 53 236024 Insert holders 0 40— 53 236025
Porte-plaquettes 052- 77 236026 Porte-plaquettes 052— 77 236027
0 76-102 236028 0 76-102 236029
1 Befestigungsteil 236020 1 Befestigungsteil 236020
Clamping piece Clamping piece
Elément de fixation Elément de fixation
4 Bedienschliissel s2.5 115575 4 Bedienschliissel s2,5 115575
Service keys s4 215403 Service keys s4 215403
Clés de service s5 215521 Clés de service s5 215521
T7 115591 T8 115590
1 Kunststoffkoffer 103161 1 Kunststoffkoffer 103161
Plastic case Plastic case
Coffret en matiere plastique Coffret en matiére plastique
1 Schaumstoffeinlage 103079 1 Schaumstoffeinlage 103079

Foamed plastic lining
Mousse de protection

Foamed plastic lining
Mousse de protection

Die 3ET®H Digitalanzeige muss gesondert
bestellt werden.

The 3ET¢°H digital readout module must be
ordered separately.

=

L‘afficheur numérique doit étre commandé
séparément.

L‘afficheur numérique doit é&tre commandé
séparément.

© @ ALLIED MACHINE
monnupTEn EENE|NEER|NE

A14 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



B & 1
Accessories/Spare parts mm BORE

TRE Reducing sleeves
lh
|
,,,,,,,,,,l,,*‘,,,‘ ,,,,,,,
S - | C— e
755
Part No.
d, d; ly
16 4 32 450129
16 5 32 450130
16 7 32 450132
16 8 32 450133
16 10 32 450134
16 12 32 450135
16 14 32 450136
BRE Adaptor
Ik Ti !
8V Al o
©T O B T O
v U y
\Amin
#ILEE iTt:S
Boring range Part No.
Avin d, d, X ly ds ds kg
16 30 22,5 14 6 20 0,05 319010
16 30 22,5 14 8 22 0,05 236071
PRIRET Thread Pin
" iT5S
Service key Part No.
S3/A 415244

© @Y ALLIED MACHINE
monnupTER EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 5



Bt/ &1

Accessories/Spare parts mm BORE

RIFENT (FERESERE) Mini-boring tools, coated carbide

WHC 126, @ 0,4 - 6,5 mm

X3 X4 |
s \
( ~ s 4 —-" " —— " —-— H ——————
? Z
iTRS
Part No.
Anin d; X X3 min ly h
0,4 4 3,0-17,0 25 2,0 0,03 081401
0,6 4 4,0-18,0 25 3,0 0,04 081402
0,8 4 50-19,0 25 4,0 0,04 081403
1,0 4 6,0 - 20,0 25 50 0,05 081404
1,5 4 8,5-225 25 75 0,05 081405
2,0 4 11,0 — 25,0 25 10,0 0,05 081406
25 4 13,5 -27,5 25 12,5 0,05 081407
TRETESMER (TREEFSNESR) Fixture through reducing sleeves (page 5)
oiRIEEEIgtHMES Other versions on request
RIREEFT Mini-boring tool
Xy
@3-10 mm j\ ) r
2
L N N J_W
T - N - T =
: ey i1,
=L EE HraBEREE TRBEREE CBN
Boring range Coated carbide Uncoated carbide
TS ITRS TS
Part No. Part No. Part No.
A i d, X l; f N d, WHC 05 WHW 04 WBN 150
3,0 6 11,5 10 1,4 0,1 2,6 081306 - 081322
3,0 6 16,5 15 1,4 0,1 2,6 081307 081307 -
4,0 6 12,0 10 19 0,2 3,6 081308 - 081317
4,0 6 17,0 15 19 0,2 3,6 081309 - 081341
4,0 6 22,0 20 19 0,2 3,6 081310 081310 -
5,0 6 12,0 10 2,4 0,2 4,6 081311 - 081318
5,0 6 22,0 20 2,4 0,2 4,6 081312 - 081319
50 6 32,0 30 2,4 0,2 4,6 081313 081313 -
6,0 6 22,0 20 2,9 0,2 5,6 081314 - 081320
6,0 6 32,0 30 2,9 0,2 5,6 081315 - 081321
6,0 6 42,0 40 2,9 0,2 5,6 081316 081316 -
8,0 8 25,0 23 3,9 0,2 7,6 081323 - -
8,0 8 50,0 48 3,9 0,2 7,6 081324 - -
HREZEEIMTRE For clamping in the adapter / Reducing sleeves
1T 45: 081306 WHC 05 Ordering example 081306 WHC 05
AIREREIREEMES Other versions on request

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

6 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



M/ &

Accessories/Spare parts mm BORE

=M (TEPMR) Tool holders in tool steel
@6 -20mm
Xg X4
i % (r;) 'c"f o= ==c %:—:%:—%}Z’
* /
HEE JIRES TRES
Boring range Insert form Insert form
ITRS ITRS
Part No. Part No.
A dy X X3 min kg
6- 8 5 12,5-45,0 25 0,01 211 514032 - -
8-10 7 17,5-56,0 25 0,02 211 514033 - -
10 - 12 8 20,0 - 60,0 25 0,03 101 514003 20 514004*
12- 14 10 25,0-75,0 25 0,05 101 514005 20 514006*
14 - 16 12 30,0-84,0 30 0,09 101 514007 20 514008
16 — 18 14 56,0 - 91,0 30 0,13 101 514009 20 514010
18 - 20 14 56,0 - 91,0 30 0,13 101 514011 20 514012
TREFERMER (TEEBESIEST) Fixture through reducing sleeves (page 5)
* RIBETFEEH0.8 mmEyTIE * Not suitable for indexable inserts with a radius of 0,8 mm.
HF (BRESESME) Tool holders in carbide
@6 -20 mm
Xa X4
Lo 7’ 7; S ——-—-—- :—:&%%4 <‘(
- 1 4 92°
HFLEE RS JIRES
Boring range Insert form Insert form
iTRS iTRS
Part No. Part No.
A d, X X3 min kg
6- 8 5 12,5- 65,0 25 0,02 211 514034 - -
8-10 7 21,0— 84,0 25 0,05 211 514035 - -
10 - 12 8 22,0- 92,0 25 0,07 101 514015 20 514016
12- 14 10 51,0-115,0 25 0,13 101 514017 20 514018
14 - 16 12 68,0 - 132,0 30 0,22 101 514019 20 514020
16 — 18 14 77,0-112,0 30 0,26 101 514021 20 514022*
16 — 18 14 112,0-147,0 30 0,33 101 514023 20 514024*
18 - 20 14 77,0-112,0 30 0,26 101 514025 20 514026*
18 - 20 14 112,0-147,0 30 0,33 101 514027 20 514028*
TRESFTERMER (BREFSRIESRN) Fixture through reducing sleeves (page 5)
*RERTFERRF0.8 MmN TIE * Not suitable for indexable inserts with a radius of 0,8 mm.

© @Y ALLIED MACHINE
monnupTER EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 7



Pt/ &1

Accessories/Spare parts mm BORE

WIRTIM Serrated tool bodies
@ 20 - 34 mm
ERAES - In carbide

X
T B3N - In tool steel « .
3 1
- * — 1%
( ﬁ o, I |ETEEiEEIzEIEIELim = T
' J v — =
yANES HELEE
Serrated tool bodies Boring range
iT5i5
A d1 X1 XQ X3 min kg Part No.
P
?fﬁggfdﬁ 20-34 14 37-72 49 -84 30 0,13 514029
T ENME 20-34 14 65-100 77 -112 30 0,25 514030
In carbide 2034 14 100 - 135 112 2147 30 0,33 514031
TRETERMER (TREESRNESR) Fixture through reducing sleeves (page 5)
k- Insert holders
@20 -34 mm
$#=FSEE TIR&S TRES
Boring range Insert form Insert form
iT5:5 i8S
A gt ont X kg Part No. Part No.
20-22 12 0,01 101 502052 20 502046
22-24 12 0,01 101 502053 20 502047
24 - 26 12 0,01 101 502054 20 502048
26 - 28 12 0,01 101 502055 20 502049
28 - 30 12 0,01 101 502056 20 502050
30-32 12 0,01 101 502057 20 502051*
Age =RETFERSHIITIER A o, = Optimised balanced for highest revolutions
*FEAFERERN0.8 mmITIE * Not suitable for indexable inserts with a radius of 0,8 mm.

* @Y ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

8 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



M/ &

Accessories/Spare parts mm BORE

=M (TAENMR) Tool holders in tool steel

@6 -27 mm

e 23 X4

-

Cz

HEE TRES RS
Boring range Insert form Insert form
1T55S TS
A g jopt X l; f kg Part No. Part No.
6- 8 16 22 19 28 0,03 - - 211 081053
8-10 16 30 27 38 0,04 - - 211 218071
10-12 16 45 42 48 0,05 - - 20 081044~
10-12 16 25 22 48 0,04 101 218047 20 218058"
10-12 16 35 32 48 0,05 101 218048 20 218059"
12-14 16 30 27 58 0,05 101 218012 20 218014*
12-14 16 45 42 58 0,06 101 218049 20 218060"
14-16 16 35 32 68 0,06 101 218050 20 218061~
14-16 16 50 47 6,8 0,08 101 218051 20 218062"
15-17 16 37 4 74 0,06 - - 20 081048*
15-17 16 60 57 74 0,08 101 081041 20 081045*
16-18 16 40 37 78 0,08 101 218052 20 218063"
16-18 16 60 57 78 0,09 101 218053 20 218064"
20-22 16 37 33 98 0,07 - - 20 081049*
20-22 16 70 63 98 0,11 101 081042 20 081046*
25-27 16 37 33 123 0,07 - - 20 081050*
25-27 16 70 67 12,3 0,11 101 081043 20 081047~
nJiRIEEEIRHE Other tool holders on request
Agx = RENTEE Ao = optimised balanced for
* FiSEFEE50.8 mmiTIE highest revolutions

* Not suitable for indexable inserts with a radius of 0,8 mm.

© @Y ALLIED MACHINE
monnupTER EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 9



Pt/ &1

Accessories/Spare parts mm BORE

B (BRasMR) Tool holders in carbide

@10 -20 mm

23 X4

D16 f=u—

|

|

i

;

I

|

i

i

i

i

i

i

i

i

i
M

| A
Jf_f
4A4>
\.

=HFLEE TRES NIRES
Boring range Insert form Insert form
iT5iS TS
A X I f kg Part No. Part No.
10- 12 55 52 4.8 0,07 101 218042 20 218037*
10- 12 75 72 4,8 0,09 101 218032 20 218029"
12- 14 70 67 58 0,10 101 218043 20 218038~
12- 14 90 87 58 0,15 101 218033 20 218030"
14- 16 75 72 6,8 0,16 101 218044 20 218039"
14- 16 100 97 6,8 0,20 101 218045 20 218040*
16- 20 90 87 7,8 0,26 101 218046 20 218041~
16- 20 120 117 7,8 0,33 101 218034 20 218031
*ARERAFERERNS mmBTIE * Not suitable for indexable inserts with a radius of 0,8 mm.
#HF (ELEMER) Tool holders in heavy metal
@6-10 mm

#7/

/
/| Sl
Aty ]
HFLEE TRES
Boring range Insert form
]'»f-k.:
A d X I, f kg Part No.
6- 8 16 32 29 2,8 0,08 211 081055
8-10 16 45 42 38 0,09 211 218072

() ALLIED MACHINE
moHLHHUPTER ‘EENElNEERlNE

10 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



M/ &

Accessories/Spare parts

Z:1IBORE

TR TR Serrated tool bodies
@29 -53 mm
Xy
— Xy
¢ |
\
$ s ﬁ*@*v***@***ﬁ I
|
I
L B
HEEE
Boring range
T8RS
A d, X X, I d; kg Part No.
29 - 53 16 48 64 40 56 35 0,2 236021
29 - 53 16 84 100 76 92 35 0,3 236031
BTFIENBIE Y Clamping elements
12571 © I ES 2 @
Cap screw Service key Clamping bolt
TR iT5ES
Part No. Part No.
027154 s4 145184
T3k Insert holders
@29 -53 mm
I EE TIRES
Boring range Insert form
ITRS
A kg Part No. X
29-41 0,04 20 236022* .
29-41 0,04 101 236023 e
40-53 0,06 20 236024*
40-53 0,06 101 236025

* FERTHEN0.8 mmTIA

WOHLHAUPTER

* Not suitable for indexable inserts with a radius of 0,8 mm.

ALLIED MACHINE

G ENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 11



Pt/ &1

Accessories/Spare parts

JI&
@52 -102 mm
THRLAEN

Without a central coolant feed

$HFSEE
Boring range
TRES TS
A X X5 kg Insert form Part No.
52 - 77 16,5 0,06 20 236026
52 - 77 16,5 0,06 101 236027
76 —102 16,5 0,10 20 236028
76 —102 16,5 0,10 101 236029
HINRI BTk Insert holders for outside turning
@4 —-66 mm |
AR ' } %% = B & I
Tvoe A ‘ Type B [ P
ype yp 1
T ED ‘
Without a central coolant feed Xy— Iy
X1
SMERZEHISEE
Outside turning range
£S5l ] ITRRS
A X l W Type kg Insert form Part No.
4 -175 40,5 20 16,6 A 0,1 20 236081
16,5 - 30 50,5 30 11,1 A 0,1 20 236082
29 - 44 75,5 54 9,6 B 0,3 20 236083
43 - 66 100,5 79 9,6 B 0,4 20 236084
* JRBSE A EINT * clockwise and neutral execution
** REATFHEN0.8 mmBITIK ** Not suitable for indexable inserts with a radius of 0,8 mm.
BF =8 ETH Clamping elements for insert holders
®—,
@
HFLEE 25T O wF BE Q2 121 @ BEEEH @ BxTIR
Boring range Cap screw Service key Washer Clamping bolt Securing washer Complete tool
T8RS T8RS ITRS TS ITRS
A Part No. Part No. Part No. Part No. Part No.
4- 30 070153 ) 315155 236120 215254 236088
29- 66 070153 ) 315156 236120 215254 236089
52 -102 115147 s5 115725 236120 - 236020

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

12 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



M/ &

Accessories/Spare parts

Z:1IBORE

TEEAT Balance compensation
s i ES T8RS
Nominal size Service key Part No.
M8x 8 s2/A 536005

DALYH Serrated slides

@68 — 152 mm
sazm  [YATLINE
Boring range

TS

A X X5 kg Part No.
68 — 96 16 32,5 0,10 501054
96 - 124 16 32,5 0,10 501055
124 - 152 16 32,5 0,20 501056

Tl Insert holder

@ 68 — 208 mm
$HFLEE
Boring range

TIRES ITRS

A X f kg Insert form Part No.
68 — 208 16,5 19,7 0,05 101 502064
68 — 208 16,5 19,7 0,05 20 502069

ARIEREREEMIIE

Other insert holders on request

BoER Counter weight
TS
X kg Part No.
13,4 0,05 502165
REVRE fite Coolant delivery section
o
I, d, kg Part No. 1
25,5 16 0,01 450137 ‘*

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 13



B/ 1
Accessories/Spare parts mm BORE

MBI TR Serrated slides for outside turning
2 -58 mm
ZFINEMMITEE FHERF
Outside turning range Interfering @
i8S
A X, X, I Dy kg Part No.
2- 30 16 73 55 101 0,10 501064
30 - 58 16 73 55 129 0,20 501065
HIMNRIFRTI* Insert holders for outside turning
@2-114mm
SMERZERISEE TRBS
Outside turning range Insert Form*
iTtES
A X f kg Part No.
2-114 57,0 19,7 20 0,15 502082
* IBS$T 75 AN L / clockwise and neutral execution
FCER Counter weight
TS 5
X kg Part No. ‘
37,75 0,16 502183
R ENREIME Coolant delivery section
FXTILINE i ‘
Iy d, kg Part No. |
25,5 16 0,01 450137 5
\

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

14 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



BAFRIMIET @ 3 - 208 mm

Boring tools for finish machining m]m BORE

w8
AT, %
; | an AN
MVS &0 HELSEE
MVS-connection Boring range
ITRRS
d | d A X, d, I kg Part No.
63 - 36 3 - 208 60 16 59,5 1,3 450001
B/

Accessories/Spare parts EEIL'T.E BORE

=T Tool holders
X X;
L i ——
L ”””””””” T«
Iy
HELSEE
Boring range
Eit) T8
A X X, d, k kg Insert form Part No.
6 —10 22 - 32 28,5 16 20 0,04 211 450026
10 - 16 35 — 45 28,5 16 33 0,06 101 450027
10 - 16 35 - 45 28,5 16 33 0,06 20 450038
16 - 24 60 — 70 28,5 16 58 0,10 101 450028
16 — 24 60 — 70 28,5 16 58 0,10 20 450039
*RERTFHEREF.SmmMTIA * Not suitable for indexable inserts with a radius of 0,8 mm.
SR TIFF Serrated tool body
@24 - 65 mm
| rs
e
Iy
HFLEE
Boring range
58
A X, X, d, ds I kg Part No.
24 - 65 68 82 16 27 79 0,20 450021

© @Y ALLIED MACHINE
monnupTER EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 15




Ausdrehwerkzeuge flir die Fertigbearbeitung

Boring tools for finish machining

Outils d’alésage pour les travaux de finition

9@ 3 -208 mm

LIS BORE

X4
..... g2,
i “ sist
| Mﬂ“
b ; b
i Uyl
MVS-Verbindungsstelle  Ausdrehbereich
MVS-connection Boring range Best.-Nr.
Connexion MVS Capacité d’alesage Part No.
d, | d, A X d, I kg Référence
63 - 36 3 - 208 60 16 59,5 1,3 450001
Werkzeugsatz: Tool sets: Jeux d’outils :
J6-128 mm
Werkzeugsatz bestehend aus: Set 1 Set 2
Tool set Consisting of: Form 101 Form 20
Jeu d’outil Comprenant:
1 Feindrehwerkzeug
Precision boring tool 450001 450001
Outil d'alésage de tres haute précision
3 Klemmhalter 450026 (Form 211) 450026 (Form 211)
Tool holders 450027 (Form 101) 450038 (Form 20)
Outils porte plaquettes 450028 (Form 101) 450039 (Form 20)
2 rlatt,?r/;hz;ter 450022 (Form 101) 450040 (Form 20)
nsert noraers 450023 (Form 101) 450041 (Form 20)
Porte plaguettes
1 Kerbzahnkorper
Serrated tool body 450021 450021
Corp cranté
1 Kerbzahnschiene
Serrated slide 450024 450024
Serrated slide
1 Kiihischmierstoff-Ubergabestiick
Coolant delivery section 450125 450125
Alimentation de lubrification
3 Bedienschliissel 003195 (s4) 003195 (s4)
Service keys 515451 (T6) 515451 (T6)
Clés de service 515452 (T8) 515463 (T7)
Wendeschneidplatten 2X 2x
Replaceable inserts F211 02 GN121 WHC19 | F211 02 GN121 WHC19
Plaguettes de coupe (397676 WHC19) (397676 WHC19)
Wendeschneidplatten 3x 2x
Replaceable inserts F101 02 MN192 WHC19 | FO20 02 GN121 WHC19
Plaguettes de coupe (297531 WHC19) (397673 WHC19)
1 Werkzeugkoffer
Plastic case 103174 103174
Coffret en matiere plastique
Best.-Nr.
Part No. 103088 103089
Référence

Zubehér und Ersatzteile ab Seite A 7.3.
Allgemeines Zubehér und Bedien-
schliissel siehe Kapitel Z, Zubehdr.

Accessories and spare parts from page A 7.3.
General accessories and service keys,
see chapter Z, Accessories.

Accessoires et pieces de rechange de la pa-
ge A 7.3. Accessoires généraux et clés
de service, voir chapitre Z, Accessoires.

WOHLHAUPTER (@ LLIED MACHINE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de A7A1



Bt/ &1

Accessories/Spare parts

EIRTIMF Serrated tool body
@65 -128 mm
HEE
Boring range
T8RS
A X X5 kg Part No.
65-128 14,5 29,5 0,08 450024
Tk Insert holder
@ 24 — 65 mm
HIEE SRTIE SHFLSEE T4
Boring range serrated tool body Boring range serrated slides
TIRES TS
A A X kg Insert form Part No.
24 - 40 14 0,02 101 450022
24 - 40 - 14 0,02 20 450040*
40 - 65 65 -128 14 0,03 101 450023
40 - 65 65 -128 14 0,03 20 450041*

* FERTFHEN0.8 mmBTIA

* Not suitable for indexable inserts with a radius of 0,8 mm.

REVERE Itz Coolant delivery section
FXTLINE iTE
ks d, kg Part No.
26,75 16 0,01 450125

;II#

WOHLHAUPTER

ESEH

3 —f

MISEE@3-152mmiyHE X B AT LAEFAVarioBore £ 5! H3%EER

Further accessories

... for the boring range @ 3 - 152 mm can be found in the accessories area

of the VarioBore tool.

ALLIED MACHINE

& ENGINEERING

16 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



BAFRIMIET

Boring tools for finish machining

@ 20 - 103 mm

310

(@

L LS

Niniine

) Spe
SR RW R EE
00 s

Xy = TIRAESE R 1T R BN TR R~

'I
N

FESR B

Xir = Set dimension for reverse machining with rotated insert holder

MVS #0- = EE BEHET] TI%* JRES B@HNA
MVS connection Boring range Precision boring tool  Insert holder Insert form Complete tool
TS TS T8RS
d, | d, A X Xin I ds kg Part No. Part No. Part No.
19-11 20- 245 46 - 430 19 01 310010 364077* 20 310030
22-11 245 - 295 46 - 435 23 0,15 310020 210059 20 310050
22-11 245 - 295 46 - 435 23 0,15 310020 210069 101 310060
25-14 29 - 37 56 - 5835 26 072 310001 210059 20 310011
25-14 29 - 37 56 - 535 26 02 310001 210069 101 310021
25-14 36 - 44 56 28 B35 26 02 310001 210052 20 310012
25-14 36 - 44 56 28 535 26 02 310001 210062 101 310022
32-18 43 - 54 66 38 635 - 04 310003 210052 20 310013
32-18 43 - 54 66 38 635 - 04 310003 210062 101 310023
40 - 22 53 - 66 75 39 725 - 07 310004 210020 20 310014
40 - 22 53 - 66 75 39 725 - 07 310004 210063 101 310024
40 - 22 53 - 66 75 39 725 - 07 310004 210064 103 310054
50 - 28 65 - 83 75 39 725 - 1.2 310005 210020 20 310015
50 - 28 65 - 83 75 39 725 - 1.2 310005 210063 101 310025
50 - 28 65 - 83 75 39 725 - 1.2 310005 210064 103 310055
63 - 36 82 - 103 90 54 875 - 22 310006 210020 20 310016
63 - 36 82 - 103 90 54 875 - 22 310006 210063 101 310026
63 - 36 82 - 103 90 54 875 - 22 310006 210064 103 310056

* FERTHEN0.8 mmBTIA

WOHLHAUPTER

* Not suitable for indexable inserts with a radius of 0,8 mm.

ALLIED MACHINE
BENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

17



AT AT @ 100 - 205 mm
Boring tools for finish machining 31 0

LYXTLINE

TN

Xir = JIFE e EHITREMINNRT Xigr = Set dimension for reverse machining with rotated insert holder
MVS #0 =L EE EEET] Ik TRES BHTA
MVS connection Boring range Precision boring tool  Insert holder Insert form Complete tool

IT&RS ITE&RS TS
d, | d, A X4 Xin I ds kg Part No. Part No. Part No.
80 - 36 100 -130 90 54 875 80 14 310007 210020 20 310017
80 — 36 100 -130 90 54 875 80 14 310007 210063 101 310027
80 — 36 100 -130 90 54 875 80 14 310007 210064 103 310057
80 — 36 125 -167,5 90 54 875 100 1,8 310008 210020 20 310018
80 — 36 125 -167,5 90 54 875 100 1,8 310008 210063 101 310028
80 - 36 125 -167,5 90 54 875 100 18 310008 210064 103 310058
80 - 36 162,5 — 205 90 54 875 135 24 310009 210020 20 310019
80 - 36 162,5 — 205 90 54 875 135 24 310009 210063 101 310029
80 — 36 162,5 - 205 90 54 875 135 24 310009 210064 103 310059

LN TR EESEMEI R RITENERCBNTI F UEEIEFMIIMTRE We recommend using insert holders with optimised chip removal

MMIBGE, ARNBHIBEEMNTIREREESNE (REAEET] to improve the result when machining grey cast iron materials with

7)) 55A9.371 CBN. Insert holders with optimised chip removal can be found on
page A 9.3 (MultiBore Catalog)

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

18 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



TIREFFHIMTIHEETIA

Twin cutter tools, same level

@ 29 - 205 mm, 90°

&

Form 04/05
—~ Tangential
at W m Tangential
i
MVS %0 L EE Tk VAP TIRES BHFEIA
MVS connection Boring range Serrated tool body Insert holder Insert form Complete tool

ITRS TS TS
d, | d, A X X5 ds kg Part No. Part No. Part No.
25 - 14 29 - 37 56 42 - 0,2 148001 151001 103 155001
25 - 14 36 - 44 56 42 30 0,2 148002 151002 103 155002
32 - 18 36 - 44 56 42 30 0,4 148017 151002 103 155048
32 - 18 43 - 54 66 46 36 0,4 148003 151003 104 155003
32 - 18 43 - 54 66 46 36 0,4 148003 151023 103 155013
40 - 22 43 - 54 66 46 36 0,7 148018 151003 104 155049
40 - 22 43 — 54 66 46 36 0,7 148018 151023 103 155050
40 - 22 53 — 66 75 55 - 0,7 148004 151022 04 155071
40 - 22 53 — 66 75 55 - 0,7 148004 151004 104 155004
40 - 22 53 - 66 75 55 - 0,7 148004 151024 103 155039
50 - 28 65 - 83 75 55 - 1,0 148005 151032 04 155072
50 - 28 65 - 83 75 55 - 1,0 148005 151043 05 155073
50 - 28 65 — 83 75 55 - 1,1 148005 151005 104 155005
50 - 28 65 - 83 75 55 - 11 148005 151025 103 155040
63 — 36 82 -103 90 60 - 19 148006 151086 104 155026
63 — 36 82 -103 90 60 - 1,9 148006 151006 105 155006
63 — 36 82 -103 90 60 - 1,9 148006 151026 103 155041
63 — 36 82 -103 90 60 - 2,2 148006 151035 05 155075
80 - 36 100 - 130 90 60 - 3,0 148007 151087 104 155027
80 - 36 100 - 130 90 60 - 3,0 148007 151007 105 155007
80 - 36 100 - 130 90 60 - 3,0 148007 151027 103 155042
80 - 36 100 - 130 90 60 - 3,0 148007 151009 05 155020
80 - 36 125 - 155 90 60 - 3,1 148007 151010 05 155021
80 - 36 125 - 155 90 60 - 3,2 148007 151088 104 155028
80 - 36 125 - 155 90 60 - 3.2 148007 151008 105 155008
80 - 36 125 - 155 90 60 - 3.2 148007 151028 103 155043
80 - 36 150 — 205 90 60 125 40 148009 151010 05 155022
80 - 36 150 - 205 90 60 125 4,0 148009 151088 104 155029
80 - 36 150 - 205 90 60 125 40 148009 151008 105 155009
80 - 36 150 - 205 90 60 125 40 148009 151028 103 155044

MR AR ERETIHINREENER D%, RARTIEE) £
HEMMENIRT, BEE ZE - Hiftf.

A6.17%,

WOHLHAUPTER

Spare parts and cover plate (1) for single cutter tools, from page

C 6.1 (MultiBore Catalog). General accessories and service keys, see
chapter Z, Accessories.

ALLIED MACHINE
BENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

19



FERAT

Extensions

balanced

balanced FFE8<10 gmm/kg.

balanced corresponds to a specific residual imbalance of

< 10 gmm/kg.

B ETRET
Thread precision balancing

MVS 00 MVS o TERET
MVS connection MVS connection Thread precision balancing

iTES

d, | d d, | d, X, kg Part No.
19,5 - 11 19,5-11 40 - 0,1 219043
22-11 22-11 40 - 0,1 219044
25-14 25-14 25 - 0,1 219068
25-14 25-14 40 - 0,1 119001
32-18 32-18 40 - 0,2 119002
40-22 40-22 40 - 04 119003
50 - 28 50 — 28 40 M6x10 0,6 119004
50 - 28 50 - 28 * 75 M6x10 1,1 219097
50 - 28 50 - 28 75 M6x10 1,1 219082
50 - 28 50 - 28 100 M6x10 1,5 119058
63 - 36 63 — 36 50 M6x10 1,1 119005
63 - 36 63 — 36 75 M6x15 1,7 219083
63 — 36 63 - 36 125 M6 x15 2,9 119065
80-36 80 - 36 50 M6x15 1,9 119006
80 - 36 80 - 36 75 M6x15 2,8 219084
80 - 36 80 - 36 125 M6 x15 48 119066
80 - 36 80 - 36 200 M6 x15 74 219094
80 - 36 80 - 36 275 M 8 x 21 10,1 119069
100 - 56 100 - 56 75 M8 x 20 43 219095
100 - 56 100 - 56 100 M8 x 20 5,6 219061
100 - 56 100 - 56 150 M8 x 20 8,1 219096
100 - 56 100 - 56 200 M8 x 20 10,2 219062
100 - 56 100 - 56 300 M8 x 20 14,6 219063

*d,/d,=49,5mm
IEFFNOVITECH

MiFEM. FEBITLURIRT, BEERARDFAZIET,

20

*d,/d,=49,5 mm
for NOVITECH-Applications

Spare parts, set screw precision balancing and service keys, see

MultiBore catalog, chapter Z.

* @ ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



MEIINF
Vibration dampened intermediate modules

U O‘-’ !TECH

R

Damper module with viscoelastic bearing

AR

Absorber mass
IREEIR

N FFSEEIMNIRG, KKELTIRARSRADN, EXETNAE
AEZRARBDIZMMMSR M TR AT BEREERNN Y
R, AR A R EBNOVITECHARRHIERIR, [E1E R
BELEHRRARGRE — MM RIRBER, ERMIIIEREKR
B ASEMERR205ZKNEN L. AL, %= mEBaAERRZELS, Lt
ETmELNENRTFRES K.

=ohEig:
Vibration chart:

10

— EBNOVITEHI BRI FRERIR
Wohlhaupter intermediate module
with NOV/ITECH

— REHRERR

Conventional intermediate module

The Damper module

Long overhanging tools are indispensable for many boring opera-
tions; but these are often susceptible to vibration, which in turn has
an effect on the processing quality. To ensure optimum machining
results, Wohlhaupter has therefore developed new vibration-damp-
ened intermediate modules with the new series NOVI™®H, Inside
the patent-pending NOVI ™81 system is a viscoelastically mounted
damper module, which reduces vibrations during the machining of
diameters up to 205 mm. Thus, the NOVIT®" products are much
more efficient than other commercially available systems, which are
equipped with a pure vibration absorber made.

X -
-
@ ‘
.
——————————————— o =3
[ A
o '

MVS #0 MVS

MVS connection MVS connection
TS
d, | d d, | d, X kg Part No.
50 — 28 * 40-20 200 2,8 519002
50 — 28 200 5,7 519003
80 - 36 . 63-28 200 75 519004
80 - 36 80 -36 200 7,5 519005

*d, =49,5 mm

© @R ALLIED MACHINE
monHUPTEB EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

21

20 200 2000



ETRE

Reducers balanced

balanced A F#HE<10 gmm/kg. balanced corresponds to a specific residual imbalance of
< 10 gmm/kg.

|
—?
Ny O~ <33
JJ N2 © I
|
ST EIRET
Thread precision balancing
MVS 0 MVS 0 B ERET
MVS connection MVS connection Thread precision balancing

iT5ES
d, ‘ d, d, ‘ d, X I ds kg Part No.
25-14 19,5 - 11 30 21 19,5 - 0,1 219034
25-14 22-11 30 21 22 - 0,2 219035
32-18 22 -11 12 0,5 22 - 0,1 219036
32-18 25-14 30 21 25 - 0,1 219037
40 - 22 22-11 12 0,5 22 - 0,2 219038
40 - 22 25-14 30 21 25 - 0,2 219039
40 - 22 32-18 30 - 40 - 0,5 219040
50 -28 19,5 - 11 54 4 19,5 M6x10 0,4 219051
50 -28 22-11 14 0,5 22 M6x10 0,3 219041
50-28 22-11 54 4 22 M6x10 0,4 219052
50 -28 25-14 14 0,5 25 M6x 7 0,3 119094
50 - 28 25-14 59 46 25 M6x10 0,4 119054
50 -28 25-14 59 46 32 M6x10 0,5 119055
50-28 25-14 119 106 32 M6x10 0,9 119010
50 -28 25-14 119 106 36 M6x10 1,0 219030"
50 -28 32-18 49 36 35 M6x10 0,9 219085
50-28 32-18 109 96 35 M6 x10 1,0 219086
50-28 32-18 109 96 40 M6 x10 11 119012
50 - 28 32-18 109 96 46 M6x10 1,3 219032"
50 - 28 40 - 22 40 27 - M6x10 0,5 219087
50 -28 40-22 100 87 47 M6x10 1,3 219088
50 -28 63 - 36 50 - 63 M6x10 1,0 119059

R " Reinforced version
S, FENBSTURIRTE, BEEERAETINAZET, Spare parts, set screw precision balancing and service keys, see

MultiBore catalog chapter Z, Accessories.

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

22 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



HH MVS EOMEWR
Master shank with MVS

DIN 69 893 HSK

balanced

B R TIAR AR DIN 69873-E10

balanced Ryim<s gmm/kg.

LR ER 40, SHERETINE
Collet chuck ER 40 with central bore

With data carrier drilling according to DIN 69873-E10

balanced corresponds to a specific residual imbalance of <

4 gmm/kg.

L

ds

o
ve

ds

X" B — R IRE

Xi*: With one-piece clamping nut

HSK-A  #Z0O
Connection
TS
d d, d; X l l, ds kg Part No.
40 40 - 22 56 - - - 0,4 246016
40 50 — 28 70 - - - 0,7 246004
50 40 + 22 56 30 - - 0,6 246015
50 50 i 28 65 - - - 0,8 245011
63 25 - 14 46 20 - - 0,7 246012
63 32 - 18 56 30 - - 0,8 246013
63 40 - 22 56 30 - - 0,8 246014
63 50 - 28 65 39 - - 11 245012
63 63 - 36 80 - - - 15 245013
63 80 — 36 80 - - - 2,1 246009
63 ER 40 120 94 95 63,0 1,7 252090*
100 50 - 28 65 36 - - 2,4 245014
100 50 - 28 180 151 - 60,0 5,0 246020
100 50 — 28 180 151 - 49,5 4,0 246021
100 63 — 36 80 51 - - 29 245015
100 63 — 36 205 176 - 78,0 7,8 246019
100 63 - 36 205 176 - 78,0 7,8 246022
100 80 — 36 80 51 - - 3,7 245016
100 80 — 36 255 226 - 90,0 12,6 246018
100 80 — 36 255 226 - - 10,4 246023
100 100 - 56 100 - - - 5,0 246010
100 100 - 56 300 221 - - 17,5 246017
100 ER 40 120 9N 88 63,0 3,5 252091*
* TSR EN TS * balanced without clamping nut

BEE (RAETIFAE) E8.100
EMMEIRTE, FEE ZE - it

Spare parts and accessories, from page E 8.1 (MultiBore Catalog).
General accessories and service keys, see chapter Z, Accessories.

© @Y ALLIED MACHINE
monnupTEn EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

23



BH MVS EO089FEW DIN 69 871-AD / B -D

Master shank with MVS balanced
B ahik JIARERIE DIN 69873-E10 With data carrier drillingaccording to DIN 69873-E10
balanced Fygig<a gmm/kg. W corresponds to a specific residual imbalance of

< 4 gmm/kg.

X ]

-

52
L e

FRILZERE ER 40, HERETIN
Collet chuck ER 40 with central bore

i1
X *: B — R BRI
Xi*: With one-piece clamping nut
HEERS #0O
Taper size Connection T8RS
Part No.
di | d, X, I, l dg kg
30 40 - 22 46 26,9 - - 0,5 327001
30 50 - 28 58 - - - 0,8 327002
40 32 - 18 55 35,9 - 40,0 11 327003
40 40 - 22 46 26,9 - - 1,0 327004
40 50 - 28 46 26,9 - - 11 327005
40 63 - 36 66 46,9 - - 1,4 327006
40 80 - 36 66 - - - 1,9 327007
40 ER 40 80 60,9 116 63,0 1,3 259079*
50 50 - 28 46 26,9 - - 2,9 327017
50 50 - 28 186 166,9 - 60,0 6,0 327025
50 50 - 28 186 166,9 - 49,5 49 327033
50 63 - 36 56 36,9 - - 3,2 327018
50 63 - 36 206 186,9 - 78,0 8,9 327026
50 63 - 36 206 186,9 - - 6,9 327034
50 80 - 36 56 36,9 - - 3,7 327010
50 80 - 36 256 236,9 - 90,0 13,6 327027
50 80 - 36 256 236,9 - 90,0 11,5 327035
50 100 - 56 90 - - - 53 327011
50 100 - 56 290 2709 - - 171 327028
50 ER 40 80 55,2 134 63,0 3,1 259080*
* THIR BN TEE * balanced without clamping nut
BEE (RAETIHA) E8.1T. Spare parts and accessories, from page E 8.1 (MultiBore Catalog).
BHMMERIRTF, BEE ZE - Mt General accessories and service keys, see chapter Z, Accessories.

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

24 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



MAS BT

BH MVS EOMEE JIS B 6339
Master shank with MVS balanced
balanced AEHE<4 gmm/kg. balanced corresponds to a specific residual imbalance of
< 4 gmm/kg.
X4

S p—

= L
il il
N Tj
— v ﬂéﬁﬂ—— ST T

T T
LR ER 40, 8°HERETIN
Collet chuck 8° ER 40 with central bore

-1

X" EE—RERIRE
Xi*: With one-piece clamping nut

SRR #0
Taper size Connection TS
Part No.
di | G X, I, l, ds kg
30 40 - 22 40 18,0 - - 0,5 327012
30 50 - 28 46 - - - 0,6 327013
40 40 - 22 46 19,0 - - 11 327016
40 50 — 28 54 27,0 - - 1,2 327019
40 63 — 36 64 - - - 1,5 327020
40 ER 40 70 43,0 104 63,0 1,2 259081*
50 50 — 28 65 26,8 - - 39 327021
50 50 — 28 205 166,8 - 60,0 7,0 327029**
50 50 — 28 205 166,8 - 49,5 59 327036**
50 63 — 36 75 36,8 - - 4,2 327022
50 63 — 36 225 186,8 - 78,0 9,9 327030**
50 63 — 36 225 186,8 - - 78 327037**
50 80 — 36 75 36,8 - - 4,7 327023
50 80 — 36 275 236,8 - 90,0 14,8 327031**
50 80 — 36 275 236,8 - - 14,8 327038**
50 100 — 56 90 - - - 55 327024
50 100 — 56 290 251,8 - - 17,3 327032**
50 ER 40 80 41,8 135 63,0 3,8 259082*
* THISIRBNEE S * balanced without clamping nut
> O[iRIEEEIRM **available on request
BEE (RAETINEL) E8.1T1. Spare parts and accessories, from page E 8.1 (MultiBore Catalog).
BHMGIIRF, 5EE ZE - Wit General accessories and service keys, see chapter Z, Accessories.

* @Y ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 25



1\ D60/D 40
Master shanks

ds— ]

X1 [

le——d5 -

SEERS ®0O TS
Taper size Connection Part No.
X l; ds ds ds b, kg

HSK-A (DIN 69 893):

63 D 40 60 30 40 89,0 66,7 80 1,9 358015

100 D 40 60 30 40 89,0 66,7 80 3,6 258021

100 D 60 70 40 60 129,1 101,6 125 52 258061

100 D 60 70 40 60 129,1 101,6 110 5,0 258098

SK (DIN 69 871-AD/B):

40 D 40 50 30 40 89,0 66,7 80 1,9 326080"

50 D 40 50 30 40 89,0 66,7 80 41 326081

50 D 60 70 40 60 129,1 101,6 125 58 198054 T 019539

50 D 60 70 40 60 129,1 101,6 110 55 198081 T 019539

SK (MAS BT / JIS B 6339):

40 D 40 50 30 40 89,0 66,7 80 1,8 326084

50 D 40 55 30 40 89,0 66,7 80 45 326082

50 D 60 80 40 60 129,1 101,6 - 8,0 326062

SK (DIN 2080):

50 D 60 55 40 60 128,0 101,6 - 6,8 326035

SK (ISO 7388 ANSI/CAT):

50 D 40 60 30 40 89,0 66,7 80 4,6 326083
Y {XAFEEMT " For light machining only

AREFERMHEMERNIEEZ

26

WOHLHAUPTER

Additional master shanks and support
flanges are available on request.

ALLIED MACHINE
BENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



E5IR384R Basic D 60 9200 - 1020 mm

Serrated slides E!E LI N E

@]
1| Xs
|| |

¥O =1 EE ERIBIR T
Connection Boring range Serrated slide
1555
ds A X l ls kg Part No.
D 60 200 - 280 85 191 110 35 349051
D 60 275 - 355 85 264 110 43 349052
D 60 350 — 430 85 339 125 5,6 349053
D 60 425 - 505 85 414 125 6,4 349054

X1 ges

#O #=FEE HABR Q@ ERBRTIF @
Connection Boring range Base slide Serrated slide
TS 1S TS
d; A X ges Iy ls Part No. kg Part No. kg Part No. kg
[O]LINE
D 60 465 - 745 155 447 129 349005 11,8 349015* 2,2 349014* 57
D 60 740 - 1020 155 722 129 349006 18,0 349015* 2,2 349014** 57
* AFREINT: SREBRIIGHMEIRES * For finishing: Serrated slide in alu
o EFEINT: SRR TR E N ** For roughing: Serrated slide in steel

© @ ALLIED MACHINE
monnupTER EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 27



BEABIRMEIREIRTIF Flex D 60
Basic slides and serrated slides

@ 500 - 3255 mm

LXXILINE

X1 ges

|
© ‘ (@)
©| 0
© T ©
e @
Ho 1o
olo
Sy & - o | o
© e
| |
® © L@
1 ol
I |
o 0 | 0
-4 © | &
oo
- A - O
ool
Subi ol olo
N oo
| o ‘ o
| i
A
|
I
#0 HFLEE BHABIR @ ERBRTING @
Connection Boring range Base slide Serrated slide
kg IT&RS IT&RS
d, A X1 ges l, I @+®@)  PartNo. Part No.
D 60 500 - 780 160 480 130 24,2 349031 349035
D 60 950 — 1055 185 480 130 41,3 349031 349036
D 60 775 - 1055 185 755 155 42,5 349032 349035
D 60 1050 - 1330 210 755 155 59,6 349032 349036
D 60 1442 - 1605 225 755 155 86,3 349032 349037
D 60 1325 - 1605 210 1305 185 88,2 349033 349035
D 60 1325 - 1880 235 1305 185 105,3 349033 349036
D 60 1600 — 2155 250 1305 185 132,0 349033 349037
D 60 1990 - 2430 255 1305 185 169,8 349033 349038
D 60 2150 - 2430 235 2130 225 192,5 349034 349035
D 60 2150 - 2705 260 2130 225 209,6 349034 349036
D 60 2150 - 2980 275 2130 225 236,0 349034 349037
D 60 2150 - 3255 280 2130 225 274,0 349034 349038
T.UOHLHHUPTER ALLIED MACHINE
.8 ENGINEERING
28 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



FETESETT

Precision boring tools

100 - 3255 mm

537

HBHETESTT 537 Digital B 7RM BT L 1R¢

[XTLINE

Precision boring tools 537 digital with insert holders

and clamping pieces

5 = EE RESTOSMNEEE 1% TIRES B@ETA
Serie Boring range Precision boring tool Tool holder Insert form Complete tool
with clamping pieces
TS TS ITES
A Part No. Part No. Part No.
AR TIHF 100 - 205 537003 210020 20 537006*
Serrated tool body 199 — 205 537003 210063 101 537008*
100- 205 537003 210064 103 537009*
Basic / Eco: 200 - 1020 537004 210020 20 537011
200 - 1020 537004 210063 101 537013
200 - 1020 537004 210064 103 537014
Flex: 500 - 3255 537005 210020 20 537016
500 - 3255 537005 210063 101 537018
500 - 3255 537005 210064 103 537019

* 0100 - 205 mm BT FAFEHRTI4K 148007 F0 148009 Bi#E

Alu-Line 348007 #1 348009,

(FEE 871537 Digital BRI ETT

* 2100 - 205 mm usable on serrated
tool bodies 148007 and 148009 or
Alu-Line 348007 and 348009.

Precision boring tools 537 digital with clamping pieces

£l HFBE BHEATAEMREE R R BT B S B R Ee
Serie Boring range Precision boring tool Clamping pieces Precision boring tool
without clamping pieces
TS TS IT&RS
A Part No. Part No. Part No.
ERTIHF .
Serrated tool body 100 - 205 537001 137026 537003
Basic / Eco 200 - 1020 537001 137027 537004
Flex 500 - 3255 537001 137019 537005

*BRARBIES N RAETIFAREAST

BANEFERERBERILER

(RGEETIFA)

%F9.131

ERTIR, LIBEER CBN NIk
BRI FSEIRIN TR S*KBHIELERENTIFESNE

* Technical description see MultiBore
Catalog page A 5

We recommend using insert holders with optimised chip removal
to improve the result when machining grey cast iron materials with
CBN. Insert holders with optimised chip removal can be found on

page F 9.1 (MultiBore Catalog)

© @Y ALLIED MACHINE
monnupTER EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

29



FEESTT

Precision boring tools

100 - 3255 mm

337

¥ T 337 BETIRMBIR B2

LXXTLINE

Precision boring tools 337 with insert holders and
clamping pieces

*BRARBIES N RAETIFAREALOR

A NEFERERBEMRILERENTIR, LUSEMER CBN ITkE
BMEINFRISEIMM IR, SKERRERERENTIRESNE

(RAETIFAE) $FI.11T

30

WOHLHAUPTER

* Technical description see MultiBore

Catalog page A 10

51 7B EEEITES MRS 1% TIRES BKTIR
Serie Boring range Precision boring tool Tool holder Insert form Complete tool
with clamping pieces
iT5RS TS TS
A Part No. Part No. Part No.
YRR TIFF 100 - 205 337056 210020 20 337063*
Serrated tool body 490 _ 205 337056 210063 101 337067
100 - 205 337056 210064 103 337061*
Basic / Eco: 200 - 1020 337058 210020 20 337064
200 - 1020 337058 210063 101 337068
200 - 1020 337058 210064 103 337062
Flex: 500 - 3255 337070 210020 20 337071
500 — 3255 337070 210063 101 337073
500 — 3255 337070 210064 103 337074
* (100 - 205 mm e FF &R TIE 148007 #1 148009 T& * @ 100 - 205 usable on serrated tool
Alu-Line 348007 #1 348009, bodies 148007 and 148009
or Alu-Line 348007 and 348009.
BT 337 B KBS Precision boring tools 337 with clamping pieces
E = EE REPTAEMREE JEEe BEZANEERET]
Serie Boring range Precision boring tool Clamping pieces Precision boring tool ﬁ
without clamping pieces
S
g Tt Tt o
A Part No. Part No. Part No. {4
ERTIHF |
Serrated tool body 100 — 205 337017 137026 337056* |
Basic / Eco 200 - 1020 337017 137027 337058
Flex 500 — 3255 337017 137019 337070

We recommend using insert holders with optimised chip removal

to improve the result when machining grey cast iron materials with
CBN. Insert holders with optimised chip removal can be found on
page F 9.1 (MultiBore Catalog)

ALLIED MACHINE

& ENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



NI TIR

Insert holders rough machining

TIKES  ISORE  YHIME TS
Insert form ISO-Code Approach angle Part No.
Xi
K X X, l; ANA W kg
103 CC..09T3.. 90° 3 - - - - 0,6 149090
104 CC..1204.. 90° 30 - - - - 0,6 149099
104 CC..1204.. 90° 29,3 - - - - 06 149083
105 CC..1605.. 90° 30 - - - - 0,6 149093
05 tI[E Tangential 90° 30 - - - - 06 149010
05 1M Tangential 90° 29,3 - - - - 0,6 149020
113 SC..1204.. 80° 30 - - - - 0,6 149089
114 SC..150512 80° 30 - - - - 0,6 149094
134 SN.1506.. 80° 30 - - - - 0,6 149096
163 TC..16T3.. 15° 30 - - +7 40 06 201065 4’z1
163 TC..16T3.. 20° 30 - - +9 53 06 201025
163 TC..16T3.. 30° 30 - - +14 77 06 201075
114 SC..150512 45° 30 - - +20 99 06 201015
104 CC..1204.. 90° 30 50 - +40 - 08 251010"
104 CC..1204.. 90° 30 50 - +75 - 09 2510112
104 CC..1204.. 90° 2@ - 620 -50 - 1,0 149040
NG Exemple
EPRIBIR T TI% A
Serrated slide Insert holder new A
A A/A,
349051 200 - 280 201065 +7 207 — 287
349051 200 - 280 251010 + 40 240 - 320
349051 200 - 280 149040 -50 150 — 230

ARIEFEREHEMTI&

WOHLHAUPTER

Other insert holders on request

ALLIED MACHINE
BENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

31



B E RN TI%
Height-adjustable insert holder

Form 103, 104, 05

=ERIANTIE Height-adjustable insert holder
-0,5 +0,9 -0,5 +0,9
-— 301 30 5
@5 D 3
= —j J”//® 1 r;}ﬁ,/’@
— O — —O®
=2FLEE 2 WO A @ 71%&® BEEIR4h @ ENEVAES
Boring range Support Adjuster screw Insert holder Fixing screw Insert holder,
IT&RS ITRS  IRF ITRS TIRES iI5s R/RF BHETAR
A Part No. Part No. Service key ~ Part No.  Insert form Part No.  Service key Part No., compl.
200 — 3255 149055 315355  s6/B 149058 103 070369 s6/B 149059
200 — 3255 149055 315355  s6/B 149056 104 070369 s6/B 149057
200 — 3255 149055 315355  s6/B 149085 05 070369 s6/B 149086

* GIERRH @ @ © TIHBIREST

S{EEMMI: 9200 -3255mm

ERANXTIEIMT (> @200 mm) B, MIBEBIERN7IONEZRRA
REHIAEMITIREES, MIANERTEE, SaEARSETEN
TIFAHRRENTONIE D GEENEE (BRABEEZ < #HAE/
B [fz]) o

WOHLHAUPTER

32

* including fixings @ and ® (® Countersunk screw

Height-displacement rough machining @ 200 — 3255 mm

With two-edge roughing (> @ 200 mm), chip removal can be even-
ly distributed radially over both cutting edges. Particularly when
machining grey cast iron, the chip-removal rate can be doubled.
Axial adjustment of the height-adjustable insert holder ensures an
ideal cut distribution to the respective cutting edge (max. height dis-
placement < feed rate/revolution [fz]).

ALLIED MACHINE
& ENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



I EAE I LTIk
Tool holder for axial grooving

ImEE N T T]3%k Tool holder for axial grooving
TS 22 Jik STE
Insert form Support Insert holder TS
TS iT5i= Part No.,
Part No. Part No. compl.
@® @ X kg
304 226014 226010 40 0,3 226029
BIERENRTIVIHI Preferred use as a twin cutter
BE MVS ZOmFREk

Adapter with serrated body interface and MVS connection

BE MVS EORE gL

<—X1—>

oy - - I
o !
!
Le o fiped o
b
I3 .

u2

.

Mounting adapters for tools with MVS connection

MVS 0 ITHRS
MVS connection Part No.
d, ‘ d; X X, L I, kg
50 - 28 50 27 115,0 90,0 1,5 349046
ERTHEZEET] 310005, 364045, 564045 Digital#i2: For pecision boring tools 310005, 364045, 564045 digital:
* fHILER (A): * Boring @ (A):
=L +50 mm Boring +50 mm
MR -80 mm Outside turning — 80 mm
FATEIMNABS . Y E e YIE When using for outside turning: counter-clockwise rotation
BofiE SR g Ik fic B Couter weight on request
= IME G

Example outside turning

* @ ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

33



FEsETER (FhEs)

Universal Facing and Boring Heads

oRFEFER, EILNI, UNEHAENSEmEEFLIN T, For use on universal milling and boring machines, jig borers etc.
suitable for all types of work in single or series production.
UPA3,UPA4FIUPA5-S6 B3 A1 & TI R REIRET]

UPA 3, 4 and UPA 5-S6 are only delivered with screw-on tool
shanks (DS)

ed9e
WOHLHAUPTER
® 6 6

UPA 3 UPA 3

o fERSEE: @ 0-2602K e Working range: @ 0 — 260 mm

o BIRITIE: 48 mm ¢ Slide adjustment: 48 mm

o EHTEMESHIKIINXITFISO30, UKMTITIFHRILIE o Almost every type of shank, for tapers from ISO 30 and
BEESHREEP kM — S, from MT 3, can be fitted to the UPA head

UPA 4
o fERSERE: ©0-400 =X e Working range: @ 0 — 400 mm
o SBIRYTIE: 52 mm e Slide adjustment: 52 mm
o FERATEMESHIKRIIM, FFISO40LURMTATIFERILAR  » Amost every type of shank, for tapers from 1SO 40 and from
BERESHiEE A M —kE, MT 4, can be fitted to the UPA head
:@
=
(-3
e
B
oﬂ
UPA5-S 6 UPA5-S 6
o INISEE: $0-620 =X e Working range: @ 0 - 620 mm
o BIRTIE: 112 mm e Slide adjustment: 112 mm
o EHETEMESHEKIIN, XFTISO40LUMMTSTIMAILAE o Almost every type of shank, for tapers from ISO 40 and from
FAEES AR ES KM — %N, MT 5, can be fitted to the UPA head

© @S ALLIED MACHINE
monHUPTEB EENE|NEER|NE

34 www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



HaesEk (Fhes)

Universal Facing and Boring Heads

RARSH

KBRS

Type and size

UPA 3

R[5
HERIEYEE R

with rapid return

Technical data

in the same direction of revs.

UPA 4

UPA5-S 6

FBREE (T hE s

SEURNERMMR EIAEEAMNITIE
Rapid return setting by quickset spindle
The S-types have a lengthened slide

y=E
MILHKRE,mm + 0,005 + 0,005 + 0,005
Working accuracy, mm
E M ENEHEIRY TR
Types of possible shanks:
mm @ 25 35 45
MT 3 4 5
ISO 30 40 40
Metric - - -
e
SHEIBROIE 0- 260 0- 400 0-620
Facing and boring range, mm in @
BREXATITIE mm
Adjustment of slide, max. mm 48 52 112
B HLL mm/rev 00507 0.02 0.04 0.06 0.08 0.10 0.12
Self activated feed of slide per rev. in mm ' 0.14 0.16 0.18 0.20 0.22 0.24
™A
Fine adjustment:
BRRAELE—# 1 dvisonmmin @ 0.01 0.01 0.01
HRABLE—B 1 revolution mmin @ 1.0 0.4 0.4
BAATEE SR 0 j j
Rapid return per revolution, mm in @ '
SURTERLEE
, ) ) , - 6.0 6.0
Rapid return setting per revolution, mm in @
= Y=
ﬂﬁaﬁﬂuﬁEhR—f 85 115 170
Largest dia. of slide, mm
TETIMNTIEKE
Height of head without shank, mm 7 128 128
=4
Tool locations in slide, mm @
HAEE (FETIW) , AF 21 65 -9
Weight of head (without shank), kg ' ' '
REBATR 1000 600 600
Max. permissible revolutions
N ‘,Eg
MTRIME +0.05 +0.05 +0.05
End cut off accuracy
PIHIER Chip production values
PIHIZER KRGBE  Type and size
Guide for chip cutting UPA 3 UPA 4 UPA5-S 6
BRARAE Max. load KW 2.5 7.0 9.5
JEERIELG With slide feed mm/rev. 0.050 0.08 0.12 0.24 0.08 0.12 0.24
FAFE/WITI @ For smaller working @ d,, mm 60 150 200
RBAYIR Max. width of chip b, mm 4 7 6 4 8 7 5
BRANIMIER O Max working @ d,, mm 260 400 500/ 620
a’:ij(tﬂ‘}é?h . KEEREEF Without reinforcement rings b, mm 2 22 2 15 25 2 15
. widt i
ax. widlth of cip ERRER" With reinforcement rings” b, mm - 45 4 3 5 4 3
) S BY AR EIFBY SR AR AT AR = 100%,
" By using the reinforcement rings, contained in the normal attachment, chip cutting capacity is increased by 100%.
T.UOHLHHUPTER ALLIED MACHINE
.8 ENGINEERING
www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de 35



T RESE RN/ T et
Facing and Boring Head

@ 0 - 400
UPA 4

AR K. ERFIRELIREIUEMT, EALMI, &
NI, 8|4, 7L, T UREASHRERNINTER,.

The universal tool for facing, boring, recessing, thread cutting
and for special work, for use on universal milling machines,
jig borers, boring machines etc.

Fig. 2

proy—

B8, AF 17

s
Weight, kg Part No.

FIRESEESL /P hE UPA4 (S0E—)
Facing and boring head UPA 4 (as fig. 1) 6.5 007020

FResEEk (WE1L) 5DSTIM (E2) #E. HF/IMAILUE
%, FEXMHREERLFTUATAREMIMEONIKR L, &
HIMBEERRRITNIRFMEE, RN, MEFEHAHL
HINO.102 221 ER9IEER,

The facing and boring head (fig. 1) is arranged for mounting DS-tool
shanks (fig. 2). Because shanks can be exchanged, this facing and
boring head can be used on machines with different spindle loca-
tions. With each tool shank a differential thead pin and an operation
key is supplied. When mounting, the instructions on mounting sheet
No. 102221 should be followed.

DS- 774, B = g8, A 1UHES ERKRHS
DS-tool shanks, fig. 2 Weight, kg Part No. No. of drawing
MT 4 x Tang DIN 1806 0.9 130005 T00 3590 K 9511

MT 5 x Tang (OERLIKON) DIN 1806 1.6 130005 T0O0 3920 K 9321

ISO 40 x M 16 DIN 69871 1.5 130005 TO1 3815 K 14180
ISO 40 x M 16 cap nut clamps DIN 2080 1.2 130005 T0O 3703 K 9518
ISO 40 x 5/8 in. — 11 BSW 2] similar  DIN 2080 1.2 130005 T0O 4498 K 9531

ISO 50 x M 24 DIN 2080 29 130005 T0O 3704 K 9519
ISO 50 x 1 in. — 8 BSW 2k similar  DIN 2080 2.9 130005 TOO 4480 K 9914
Norm taper 40 x S 20 x 2 #s DECKELY&1E / with bolts DECKEL 1.2 130005 T00 5070 K 8622
ISO 40 x M 16 DIN 2080* 1.2 130005 TO1 0229 K 10248
ISO 40 x 5/8 in. — 11 BSW 2 similar  DIN 2080* 1.2 130005 TO1 0327 K 10334
ISO 50 x M 24 DIN 2080* 3.0 130005 TO1 0048 K 10071

¥ TS
Ht R SR RAXEEAR

WOHLHAUPTER

36

* with chucking groove
Other types of shanks on demand

ALLIED MACHINE
BENGINEERING

“

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de



T RESETR K/ T heR
Facing and Boring Head

@ 0-620 mm

UPA 5-S6

TEEEER. AR, BEEZISE LRI SU@EMT, ®AMTI, #  The universal tool for facing, boring, recessing, thread cutting
NI, 184y, #rl, BT UAKREMFRERNINIER, and for special work, for use on universal miling machines,
jig borers,boring machines etc.

=
w
-
a
=2
=
—
'8
B

\
|
[
|
2108,5
260
2%
a—
0
0

VYA
%

]
0

oY%
XXX

0

%
o

|
(0]

R

Y%
Y

X
0

&Y

128

B, AF TS
Weight, kg Part No.
FEEEE BN/ hER UPAS (J0E—)
Facing and boring head UPA 5 (as fig. 1) 79 013020
FeEsESESk (WNE1) 5DSTIMR (E2) #Efd, HFJIMeIUE The facing and boring head (fig. 1) is arranged for mounting DS-tool

#, EXFARERS LA UBETF AR MIEEONNEL. & shanks (fig. 2). Because shanks can be exchanged, this facing and
MRS EERERTIR SRR, REMN, MSENES L boring head can be used on machines with differing spindle loca-

HINO.102 221 ERYIREA,

No. 102201 should be followed.

tions. With each tool shank a differential thead pin and an operation
key is supplied. When mounting, the instructions on mounting sheet

DS-7J#A,E = g, 2 11&ES BEHgmS
DS-tool shanks, fig. 2 Weight, kg Part No. No. of drawing
MT 5 x Tang (OERLIKON) DIN 1806 1.6 130005 T00 3920 K 9321

IS0 40 x M 16 DIN 69871 1.5 130005 T01 3815 K 14180
ISO 40 x M 16 cap nut clamps DIN 2080 1.2 130005 T0O 3703 K 9518
ISO 40 x 5/8 in. — 11 BSW Z&{BL similar  DIN 2080 1.2 130005 TOO 4498 K 9531
IS0 50 x M 24 DIN 2080 2.9 130005 T00 3704 K 9519
IS0 50 x 1 in. — 8 BSW Z{BA similar  DIN 2080 2.9 130005 TOO 4480 K 9914
Norm taper 40 x S 20 x 2 #DECKEL2ME / with bolts DECKEL 1.2 130005 T0O 5070 K 8622
IS0 40 x M 16 DIN 2080* 1.2 130005 TO1 0229 K 10248
ISO 40 x 5/8 in. — 11 BSW Z&{BL similar  DIN 2080* 1.2 130005 T01 0327 K 10334
IS0 50 x M 24 DIN 2080~ 3.0 130005 T01 0048 K 10071

* with chucking groove

Other types of shanks on demand

MACHINE

¥ ALLIED
WOHLHAUPTER E ENGINEERING

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

37



7R

Replaceable Inserts

M:EA £S5 4% / Steel: Unalloyed to High Alloyed

AR§E$M / Stainless steel
$5%k / Cast Iron

H&£E / Non-Ferrous Metals

P
M
K
N
H

=6EEEHA#EL / Hard Materials

JUAERZR

Geometry

121

38

127

158

199

WH-Article-No.

(ITE&HS
WH-Article-No.
F211 01 GN 121

F211 02 GN 121

F020 02 MN 155
F020 04 MN 155

F020 01 GL 650
F020 02 GL 650
F020 03 GL 650
F020 04 GL 650
F020 08 GL 650
F101 02 GN 127
F101 04 GN 127
F103 02 GN 127
F103 04 GN 127
F104 04 GN 127
F101 02 MN 158
F101 04 MN 158
F103 04 MN 158
F103 08 MN 158
F104 04 MN 158
F104 08 MN 158
F105 08 MN 158
F105 12 MN 158
F101 02 MN 192
F101 04 MN 192
F101 08 MN 192
F103 02 MN 192
F103 04 MN 192
F103 08 MN 192
F104 04 MN 192
F104 08 MN 192
F104 12 MN 192
F101 02 MN 199
F101 04 MN 199
F103 02 MN 199
F103 04 MN 199
F103 08 MN 199
F104 04 MN 199
F104 08 MN 199

Form 211

T8RS
Part No.
397675

397676

397688
397689

097153
097546
097154
097599
397764
097529
097445
297550
097497
097496
297248
297377
297239
297240
297242
297241
297559
297560
297531
297658
297588
297958
297653
397614
397666
297878
397632
397164
397165
397702
397166
397167
397191
397168

6,9 mm

F12
Radius
0,1
0,2

0,2
04

0,1
0,2
03
04
0,8
0,2
0,4
0,2
04
0,4
0,2
04
0,4
08
0,4
08
0,8
12
0,2
04
08
0,2
0,4
08
04
08
12
0,2
04
0,2
0,4
08
04
08

ISOfXES
ISO Code

WBGX030101
WBGX030102

TOMX080202
TOMX080204

TOGX080201
TOGX080202
TOGX080203
TOGX080204
TOGX080208
CCGT060202
CCGT060204
CCGT09T302
CCGT09T304
CCGT120404
CCMT060202
CCMT060204
CCMTO09T304
CCMTO09T308
CCMT120404
CCMT120408
CCMT160508
CCMT160512
CCMT060202
CCMT060204
CCMT060208
CCMT09T302
CCMT09T304
CCMTO09T308
CCMT120404
CCMT120408
CCMT120412
CCMT060202
CCMT060204
CCMTO09T302
CCMT09T304
CCMTO09T308
CCMT120404
CCMT120408

1N #4%l / Cutting Materials

E£EME / Cermet EER&® / Carbide
ERE a%E KRR ARE
uncoated coated uncoated | coated
\AA4 \AA4 \AA4
VW \AA4
VW VW \AA4 VW
VW \AAJ \AA4
VW \AAS
2 8lede N5 2o g
EF EF F EF oo =200 o0 o0
T T T T T T T T =
SS=sE5EEsssE¢E =
s
s
)
()
o BN ) o
o BN ) o
o o
o o0 o
o
o o
o o
o o
[ ) [ )
o o
()
()
()
()
()
()
o o
o
s
s
s
s
s
s
s
s

© @ ALLIED MACHINE
monnupTEn EENE|NEER|NE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

WHC 98

€ € WHC 111

13113

1 3

WHC 114

WHC 136

WHC 164



7R

Replaceable Inserts

BT #4¥l} / Cutting Materials

Form 04
10,5 mm
Form 05
14,5 mm

f ' £EMIE / Cermet WA E / Carbide
T 7 TiRE BRE ETRE 8RE

uncoated coated uncoated | coated

$M:ESEZE A% / Steel: Unalloyed to High Alloyed
TEW / Stainless steel

$5%% / Cast Iron

E&=£E / Non-Ferrous Metals

EREEHEL / Hard Materials

Tle 2z x 2

WH-Article-No.
JUARZAR (IT5ES) TS #1F  1SOft8
Geometry ~ WH-Article-No. ~ Part No. Radius  ISO Code
880 FO04 04 ML 880 397595 0,4 -
FO05 04 ML 880 397593 0,4 -

‘ F005 08 ML 880 397594 08 =

WHT 16
WTC 121
WHW 01
WHW 16
WHC 05
WHC 18
WHC 19
WHC 79
WHC 98

WTC 15

WHT 10
WHT 12

* @Y ALLIED MACHINE
moHLHHUPTER EENElNEERlNE

www.wohlhaupter.com | +49 (0) 7022 408 0 | info@wohlhaupter.de

WHC 111

WHC 114

WHC 136
¥¥ WHC168
€ € € WHC 198

<4 < 4 4 <«

39



Deutschland | Osterreich | Schweiz

Wohlhaupter GmbH
MaybachstraBe 4
72636 Frickenhausen
Germany

Europa

Allied Machine & Engineering Co. (Europe) Ltd.

93 Vantage Point
Pensnett Estate
Kingswinford
West Midlands
DY6 7FR England

Vereinigte Staaten

Allied Machine & Engineering
120 Deeds Drive

Dover OH 44622

United States

Allied Machine & Engineering
485 W Third Street

Dover OH 44622

United States

Asien

Wohlhaupter India Pvt. Ltd.
B-23, 2nd Floor

B Block Community Centre
Janakpuri, New Delhi - 110058
India

&546:  02-27030193
at: 04-24636890

Hiati i

Telefon:

+49 (0) 7022 408-0
Email:
info@wohlhaupter.de
Web:
www.wohlhaupter.com

Telefon:

+44 (0) 1384 400900

Email:
enquiries.eu@alliedmachine.com
Web:

www.alliedmachine.com

Telefon:
+1 3303434283

Fax:
+1 330 602 3400

Telefon:
+1 3303434283

Fax:
+1 330 364 7666
(Engineering Dept.)

Telefon:
+91 1141827044

Website: www.gcarbidetool.com

www.wohlhaupter.com
90200 06.2018

Printed in Germany - Technische Anderungen vorbehalten Holemaking Solutions for Today’s Manufacturing


mailto:info@wohlhaupter.de
http://www.wohlhaupter.com/
mailto:enquiries.eu@alliedmachine.com
http://www.alliedmachine.com/
http://www.goldencarbide.com/
http://www.wohlhaupter.com/



